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1 1 0O.04ppm

1 O.1ppm

1 1 10ppm

1 8 20ppm

1 1 0. 10Mhg/ m
0.20Mmg/ m

1 1 O.04pp®. 06 ppm

1 O. 06ppm

0. 003mg/ m

0. 2nMg/ m

0. 2nMg/ m

0. 06TpEF/ m
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.01 mge/

0. 01 mge/

0. 05 mge/

0. 01 mge/
0. 000 5mge/
PCB
0. 02 mge/
0. 002 mge/
1,-2 0. 004 mge/
1,-1 0. 02 m g&/
-1,-2 0. 04 mge/
1, 1-, 1 1 m g&/
1,1, 2 0. 006 mge/
0. 03 mge/
0. 01 mge/
1,-3 0. 002 mge/
0. 006 mge/
0. 02 m g&/
0. 02 mge/
0. 01 mge/
0. 01 mge/
10nmg/
0.8 m g&/
1 m g&/
1 pegr EQ/
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pH BOD SS DO
6.5 50
AA s 5 1 mg/ 2 5mge/ 7 . Bgt/ MPN/ 200 m
6.5 1,000
A 8 5 2 mge/ 2 5mge/ 7 . gt/ MPN/ £00 m
6.5 5,000
B s 5 3 m@/ 2 5mge/ 5 mg¥/ MPN/ £00 m
C g: 5 m@/ 50 mge/ 5 mg¥/
6.0
D 8 5 8 m@/ 10 thge/ 2 mgt/
6.0
E s 5 10mg/ 2 mgt/
A
A
0. 03etmg/
B
B
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0.01 mge/

0.01 mge/

0. 05 mge/

0.01 mge/

0. 005 mge/

PCB

0. 02 mge/

0. 002 mge/

1,-2 0. 004 mge/

1,-1 0. 02 mge/
-1,-2 0. 04 mge/

1, 1-, 1 1 mge/
1,1, 2 0. 006 mge/
0. 03 mge/

0.01 mge/

1,-3 0.002 mge/
0. 006 mge/

0. 003 mge/

0. 02 mge/

0.01 mge/

0.01 mge/

10 mge/

0.8 mge/

1 mge/
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16

40

45

50

50

55

60

AA

10

10

AA

< o O

[SP IS S T o}

B
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2 60 55
2
65 60
1
70 65
45 40
(1) 3
4
(2)
7 1 1
(1)2 15
(2)2 20
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1 75
1
400
43 100 8
39 167 6
600
600
800
800
1 8
70
1 8
75
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6 8

18 18 23 23 6
50 45 40
55 50 45
65 60 50
65 60 55

8 19 19 8

60 55

65 55

65 60

70 60
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85 75
2. 85
3. 85 75
4.
15 85
5. 0. 45m3
200k g 85
6 .
75
7. 75
8.
85
80kWwW
9.
85
70k W
10.
85
40kWwW

50m




7 7 6 10
10 14
6
80
80




6 8

18 18 23 23 6
50 45 40
55 50 45
65 60 50
65 60 55
75 75 65
55 50 45

8 19 19 8

60 55

65 55

65 60

70 60

70 65

65 55
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ppm

1 5 1
0.002 0.10 0.002
0. 02 0. 2 0.02
0.10 0. 2 0.01
0.0009 01 0.0009
0.005 0.70 0.005
0. 05 0.5 0.05
0. 4 2 0. 4
0. 03 02 0.03
0.001 0. 60 0.001
0.00009 0. @80 0.00009
0.001 0. 01 0.001
10 60 10

1 5 1

3 20 3

1 6 1
0.9 20 0.9
0. 05 0.5 0.05
0.0009 0 .80 0.0009
0. 02 0. 2 0.02
0.0009 0. 05 0.0009
0.0083 0.01 0.0083
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q=0.108xHe? -Cm

N
He m
Cm ppm
He = Ho + 0.65(Hm + Ht)
- 0.795/Q-V
Hm =58
1+——
\Y
Ht =2.01x107%.Q-(T —288)-[2.30LogJ +%—1j
- [1460—296x—v )+1
JQ-V T-288
He m
Ho m
15 i
m
K
(P )
QO0.001| 0.00QO0. 1 0. 1Q
0.03 0.007 0.002
0.1 0.02 0.005
0.3 0.07 0.01
0.6 0.1 0.03
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1¢ 0 .1fhg
1k g img
1¢ 0 .1fhg
18 0. 05mg
1¢ 0 .1fhg
1k g 15 mg
18 0. 0005 mg
1k g 12 5 mg
18 0. 02mg
18 0. 002mg
1 2 1¢ 0. 004 mg
1, 1- 1¢ 0. 02mg
-1, 2 1¢ 0. 04 mg
1,1, 1- 1¢ Img
1,1, 2 1¢ 0. 006 mg
18 0. 03 mg
1¢ 0 .1fhg
1 3 1¢ 0. 002mg
18 0. 006 mg
18 0. 003 mg
18 0. 02mg
1¢ 0 .1fhg
1¢ 0 .1fhg
18 0. 8mg
18 Img
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mgk g m ge/
— 0.002
1,-2 — 0.004
1,-1 — 0.02
-1,-2 — 0. 04
1,-3 — 0.002
— 0.02
— 0.01
1-, 1 — 1
1-, 2 — 0. 006
— 0.03
— 0.01
150 0.01
250 0.05
50
15 0.0005
150 0.01
150 0.01
150 0.01
4000 0.8
4000 1
— 0.003
— 0. 006
— 0.02
PCB —
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